GENERAL NOTES: -
1. ALL FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS. SPECIFIED |~—————— 59" MAX. FRAME WIDTH l———————— 59" MAX. FRAME WIDTH —————— x
ANCHOR EMBED TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO. 6" »
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & Al — m L 6
INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE. 2 NAL FIN MAX. 2 MAX. 2
3. THESE NON—IMPACT RATED PRODUCT INSTALLATIONS ARE IN ACCORDANCE WITH E <
AND MEET THE REQUIREMENTS OF THE INTERNATIONAL BUILDING CODE (1BC). - = - - - - - - - - - - Av4 A4 AV AvA S §
4, ALL ANCHORS SECURING PRODUCT FRAME TO PRESSURE TREATED BUCKS OR . . " -
WOOD FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE 6" MAX. I~ g
PRESSURE TREATING CHEMICALS IN THE WOOD. / > / K o1z
5. TO THE BEST OF OUR KNOWLEDGE, THE PRODUCT SHOWN HEREIN IS CERTIFIED & * / / \ * / / \
QUALITY ASSURED BY A NATIONALLY ACCREDITED CERTIFICATION/QA ENTITY & SHALL - z 5
BE LABELED IN ACCORDANCE WITH CERTIFICATION/QA ENTITIES SPECIFICATIONS. . OPPOSI . OPPOSITE 3
PRODUCT ASSEMBLY IS NOT PART OF THIS DRAWING AND SHALL BE IN ACCORDANCE BN / \ /BT B\ / \ /BN |8
WITH THE MANUFACTURER’S QUALITY ASSURANCE SPECIFICATIONS & TESTING REPORTS. \y ~z w ~ \y 4 A <~ O § 3
6. CERTIFICATION OF THESE PRODUCT INSTALLATIONS SHALL BE CONSIDERED VOID IF *':E N . = / \ U Ll a1y
ANY OF THE FOLLOWING APPLY: 1) THEY ARE INSTALLED WITHOUT A BUILDING PERMIT [©} / \ g [=] zl§
FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT. 2) IF THEY ARE INSTALLED BY [T} . . jou} 9 v % g
ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH WINDOW/DOOR * / \ x / \ = afy
INSTALLATIONS. ~ 3) IF CHANGES HAVE OCCURRED 70 THE PRODUCT'S CERTIFICATION LE‘J . w = = g E
ENTITY'S CERTIFICATE THAT CAUSE THESE INSTALLATIONS TO BE INCORRECT OR = * <§( / \ . -
INCONSISTENT WITH WHAT HAS BEEN TESTED. x / \ & INTERMEDIATE ANCHORS ARE NOT Q 1
7. THE LEAST DESIGN PRESSURE SPECIFIED EITHER IN THIS DRAWING OR IN THE . . L REQUIRED AT SIDES WHEN FRAME o
PRODUCTS CERTIFICATION SHALL CONTROL FOR THE INSTALLED PRODUCT. > po » .
B. THESE DRAWINGS CERTIFY THE PRODUCT INSTALLATION ONLY. WATER PROOFING OF = / \ < HEIGHT IS 32" OR LESS % =
THE INSTALLED PRODUCT IS NOT PART OF THIS INSTALLATION CERTIFICATION. THAT = . . = / 9 = (o) 4
RESPONSIBILITY SHALL BE THAT OF THE MANUFACTURER &/0R INSTALLER. =m / B N o QE [
3 . | 2 \ ~ 2| 5¢a8
FIN FASTENER WITHIN 2”7 OF FRAME SCREWS OR INSTALLATION 0 = O'(ﬁ%‘_
Il /  corners & 5" 10 77 wax. 0.\ | || / GUPS WHERE SHOWN. SEE \ 2l o<
SEE "FRAME ANCHOR REQUIREMENTS "FRAME ANCHOR REQUIREMENTS b4 8= 8
N / TABLE” ON THIS SHEET FOR /% . TABLE” ON THIS SHEET FOR E =31
REQUIREMENTS. REQUIREMENTS. N 3883
. . o wax. | B BT
|Z
S S S S S SRR SR ~ Ay ~ = o |3
FRAME ANCHOR REQUIREMENTS TABLE q 4 | §| <
0
OPENING TYPE FRAME/CLIP/NAIL FIN TO MINIMUM] MINIMUM EXTERIOR ELEVATION; EXTERIOR ELEVATION:; 3g
(SUBSTRATE) OPENING FASTENER TYPE EMBED |EDGE DIST. SINGLE WINDOW SINGLE_WINDOW z 2
e UNSLL IS O
I FRAME SCREWS SCALE: 3/4” = 1'-0" SCALE: 3/4" = 10" =
MIN. 2X4 WOOD FRAME U . N
(MIN. GR. 3 & G=0.55) NO. 10 SMS OR WOOD SCREW |1 1/4 3/4 (NAIL FIN MOUNT CONDITION) (FRAME SCREW AND CLIP MOUNT CONDITION) 3 .38
- - - o
MIN. 18 GA. 33 KSI METAL STUD |NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" 2l oS
MIN. 1/8” THK A36 STEEL NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" u é.,'_ ©
MIN. 1/8" THK 6063-T5 ALUM. | NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" [
C-90 CMU/2500 PSI CONCRETE | (1) 1/4" CONCRETE SCREW T 2 ALLOWABLE DESIGN é se E;g
@ INSTALLATION CLIP SCREWS (STANDARD BENT CONDITION PRESSURE il I
MIN. 2X4 WOOD FRAME OR BUCK ., . MAX. MAX. | ALLOWABLE E & 3%
(MIN. GR. 3 & G=0.55) NO. 8 X 11/2" SMS 13/87 | @N/A FRAME | FRAME | PRESSURE = E"igg
s =
MIN. 1/8" THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL | I N/A WIDTH | HEIGHT |(+/— PSF) =] BEREET
MIN. 1/8" THK 6063-T5 ALUM._| NO. B GR. 5 SELF TAP/DRILL SCREW | FULL | @ N/A EDGE DISTANCE MAY BE (IN.) (IN.) E g N 3§g
INSTALLATION CLIP SCREWS (ALTERNATE STRAIGHT CONDITION) DECREASED TO 1/2” IF SCREWS 59 59 50 b V_"’g R3
MIN. 2X6 WOOD FRAME OR BUCK . " . PRESSURES AND CONDITIONS SHOWN ON ES lEzhE &
(MN. GR. 3 & G=0.55) NO. 8 X 1 1/2" SMS 13/8 3/4" = ARE ANGLED 15 TO 20 THIS DRAWING ARE GOVERNED BY 272
- oR : DEGREES AWAY FROM THE EDGE. INSTALLATION REQUIREMENTS ONLY. THE P YA 3=2
VIN. 18 GA. 33 KSI METAL STUD | NO. B GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" GOVERNING GONDITIONS 0N AY SPECIC Padt R ¥ ENE) 27 g
MIN. 1/8" THK A36 STEEL | NO. B GR. 5 SELF TAP/DRILL SCREW | FuL | 1/2° R s Eo) AoPROVA PR SR (AN R
MIN. 1/8" THK 6063-T5 ALUM. | NO. B GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" ALTERNATE_ANCHOR/SUBSTRATE EVALUATION NOTE: OR THAT SHOWN IN THESE DRAWINGS. & H 1l u
® NAILING FIN FASTENERS ALL ALTERNATE ANCHORS IN THEIR SPECIFIED LWl L Rewis o
TN 5% WoOD FRAVE OR BUCK SUBSTRATES HAVE BEEN ANALYZED IN ACCORDANCE .-;"';' 5 ‘.. = g’é
- B 0D PR ey NO. B X 1 172 SMS 138 12 WITH THEIR APPLICABLE STANDARD(S) AND ARE FOUND et : 3 TR A
S 5% 00D FRAVE o BUCK TO BE EQUIVALENT TO OR STRONGER THAN THE 3, " R N E3
d " » Wit 5 {e]
(MN. GR. 3 & G=0.55) 11 GA. ROOFING NAIL 13/8 1/2 ANCHOR(S) USED IN TESTING WITH THIS PRODUCT. eé‘i'-, : :z
MIN. 1/8" THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL /2" INSTALLATION EVALUATION IS BASED ON APPLICABLE ANCHOR STANDARDS AND/OR ‘z‘{&" engs L2 IO g
MIN. 1/8” THK 6063-T5 ALUM. | NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" INFORMATION & RESULTS FROM APPLICABLE TEST REPORTS. THE BUILDING CODE \"’ w7t Ea g
(1) CONCRETE SCREWS SHALL BE ELCO ULTRACONS (CS), ELCO CRETE-FLEX (S.S.), ITW R S ERE }”Hr;“E\T,“E,ETE‘(;‘;LUC"JE,‘ENV‘Q'Q;J,:‘AEHTNGF&%EPQ;Tg‘ﬁog“’:E o R aw™
RAMSET/RED HEAD TAPCONS (C.S. OR S.S.) OR HILTI KWIK=CON Il (CS OR S.S.). B T I OR ADDITIONAL TESTING IS COMPLETED ON THE REFERENCED
(2) STANDARD BENT CLIP INSTALLATION SCREWS SHALL BE POSIIONED WITHIN 1/4” OF THE PRODUCT. PRIOR TO STATING CODE COMPLIANCE, THE MANUFACTURER SHALL CONFIRM s e P O T Tt || 18307 | A
BUCK/SUBSTRATE EDGE AND, IF INTO WOOD, ANGLED 20 TO 30 DEGREES INTO THE BUCK. WITH THE INSTALLATION EVALUATION ENGINEER OF RECORD THAT THE INSTALLATIONS D/OR INSTALLATION OF ANY OTHER PRODUCT NOR MAY 16307 A
(3) WHEN SCREWS ARE USED WITH THE NAIL FIN, THEY MUST BE A WAFFLE HEAD SCREW OR SPECIFIED HERE—IN ARE CURRENT WITH THE THEN CURRENT TESTING, CODE AND [THEY BE USED FOR RATIONAL AND/OR LOCAL APPROVAL SHEET NO.
HAVE A FLAT WASHER AT THE SCREW HEAD. APPLICABLE STANDARDS. A T N oDUCED BY THE MANUFACTURER|] 1 oF




[CHECKED BY:
SEALANT BY OTHERS—_ b FASTENER SUBSTRATE BY OTHERS FRAME SCREW il 3/8" MAX. SPACE FRAME WIDTH s
PER ELEVATION PER "FRAME ANCHOR PER ELEVATION PER "FRAME ANCHOR B5 24/16
BEHIND NAIL FIN ] / REQUIREMENTS TABLE” REQUIREMENTS TABLE” - SEAL SPACE WITH LOW
hiniiig e y N Y SUBSTRATE BY\ EXPANSION FOAM w
e : N OTHERS PER ; AROUND PERIMETER OF |2
NAIL FIN / E » FRAME ANCHOR WINDOW FRAME
3/8" MAX 2 3/8" MAX. REQUIREMENTS x
SPACE 2 SHIM AT TABLE”
PAC —’ % EACH ANCHORW ;
- 5 > FIN FASTENER 3
S N PER ELEVATION é
SEALANT BY SEALANT BY 3 2 g
OTHERS OTHERS % SEALANT BY 8
3 OTHERS BEHIND .| g
NAIL FIN g
g
SEAL SPACE WITH SEAL SPACE WITH
LOW EXPANSION ! LOW EXPANSION N A z| =
FOAM AROUND = FOAM AROUND EXTERIOR S o
R EXTERIOR z o o0
EXTERIO PERIMETER OF 2 [EXTERIOR] PERIMETER OF S SEALANT BY z E'&-'Ng
WINDOW FRAME— = WINDOW FRAME T OTHERS =| SK3T
E E SECTION /8D 2| gz=5
= & SCALE: 1/2 FULL \ 2/ Z| °=<1
& ROTO & S =3¢
OPERATOR (NAIL FIN MOUNT) = ,319_55
[ 33 o
3/8” MAX. SHIM AT 2 |
: EACH ANGHOR l—kFRAME WIDTH L
S . SEAL SPACE WITH LOW || 1
3 ALTERNATE E EXPANSION FOAM 3 F
8 FRAME SCREW 5% 3 AROUND PERIMETER OF || Z |4f
s LOCATION WHERE .- WINDOW FRAME olg
SEALANT BY SEALANT BY- 0 = ROTO OPERATOR % s
OTHERS \ _'. OTHERS |/.: EXISTS (ONLY s /<_YXY/YSKYY AR TR R RIS © 3
3/8" MAX. | $ 38 W APLCABLE AT g :?_
SPACE : SHIM AT ERATOR bl 2 .
% EACH ANCHOR LOCATION) 7 B 3
N 2 LR = i
- Tt CRRRE Tt PER ELEVATION IT| G .25
NALLFIN AL A St WINDOW - | &8 kuy
%, &~
SEALANT BY OTHERS—" FIN FASTENER SUBSTRATE BY OTHERS FRAME SCREW SUBSTRATE BY OTHERS ~ SUBSTRATE BY—"" £ «Z881
b PER ELEVATION PER "FRAME ANCHOR  OTHERS PER B E38
BEHIND NAIL FIN PER ELEVATION PER "FRAME ANCHOR . 9 " < Eo¢
REQUIREMENTS TABLE” SECTION yny REQUIREMENTS TABLE”  "FRAME ANCHOR o | Yo B2y
SECTION \%\ R TR ALTERNATE FRAME $§(BJIE)&!3EMENTS e éd«@mg
SCALE: 1/2 FULL SCREW LOCATION L Z~3
/ FRAME SCREW MOUNT SHOWN. SEE | wWHERE ROTO SEALANT BY  [EXTERIOR SIng AN
(NAIL FIN MOUNT) DETAILS ON SHEET 3 FOR DIRECT | QPERATOR EXISTS OTHERS £°32
MOUNT & CLIP MOUNT DETAILS. (ONLY APPLICABLE AT SECTION /BN 3%z
OPERATOR LOCATION) SCALE: 1/2 FULL \2/ o hY
FRAME SCREW MOUNT SHOWN. SEE | =it o
DETAILS ON SHEET 3 FOR DIRECT | a8 ] 3
MOUNT & CLIP MOUNT DETALS. |57 : :
O Y RGN\ S 72
ya‘)).'. he ¢ R B
e, (dE R N
[0 :fé O
Ll B e S
l\\w’ . .'?;.*'
W
1630T | A
SHEET NO.
2 o 3




L“;;L"\;ELAI\'[S’&“H gé'PRESQngVgMEﬁ% INSTALLATION CLIP SCREW PER "FRAME
ANCHOR REQUIREMENTS TABLE” (2 PER
SUBSTRATE BY OTHERS TABLE” (2 PER CLIP). ANGLE SUBSTRATE BY OTHERS CLIP ANGLED 15 TO 20 DEGREEg IF
PER "FRAME ANCHOR SCREW 20-30° WHEN INTO WOOD PER FRAME ANCHOR NECESSARY TO MEET EDGE DISTANCE @
REQUIREMENTS TABLE” SUBSTRATE. REQUIREMENTS TABLE REQUIREMENTS) s
- ;‘:," s 5
3/8" MAX. 3/87 MAX. ]
SHIM AT cup“ SHIM AT CLIP 2
4]
. g
SEALANT BY: g SEALANT BY: 0 ; = §
OTHERS 3 OTHERS O e
INSTALLATION = INSTALLATION
cup S CLIP =} g
NO. 8 X 3/4” 2 NO. 8 X 3/4" 2
SCREW (2 PER SEAL SPACE WITH g SCREW (2 PER g
cLIP) LOW EXPANSION 5 CLIP) 3 % =
FOAM AROUND SEAL SPACE WITH o 8| ggeo
PERIMETER OF = LOW EXPANSION FOAM = 2| 5258
‘ WINDOW FRAME & AROUND PERMETER & =| 8537
EXTERIOR b EXTERIOR OF WINDOW FRAME 2 %Z‘—tg
z| o<
= s
STANDARD INSTALLATION CLIP DETAIL ALTERNATE INSTALLATION CLIP DETAIL z| 3383
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME) (HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME) 'Q s £
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) (FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) L
= |z
3
CONTINUOUS WOOD MEMBER LESS IN THICKNESS %I &
THAN A 2X_ BUCK TO BE MIN. 3 1/2" DEEP - B
(NOT REQUIRED WHEN SHIM SPACE lé WITHIN SUBSTRATE BY OTHERS [ 6.187 TO 8.187 Z s
ALLOWABLE DIMENSIONS SHOWN IN SECTIONS). 5 PER "FRAME ANCHOR 0.024 —f— |(1.703-| 2F
= REQUIREMENTS TABLE' 1.472 x L ~ al =
. = . 1.903 ' o o o o l [+
A = ) 0.024 0l 82
7 s J} (@) NAL_EIN o o o o @ T I
S >: -1 (3003 H-14 ALUMINUM) | Ew ks
SEALANT BY = z —~| 1.5% (— o o o o) o | Ho 3
OTHERS & = ol zzk §
i (1)DRP_CAP NAIL FIN | T g, 2=
3 _ EQ‘*
(3003 H-14 ALUMINUM) % 5enT PORTION OF CLIP MAY BE SNIPPED OFF 052 ) E| ~&38t
IF REQ'D FOR PLACEMENT TO WINDOW FRAME. = B 3B
FRAME_INSTALLATION CLIP =i F 85y
FRAME SCREW PER ® (50 KS| STEEL) é %’l_ 1
ELEVATION & "FRAME L8| 22 2=
ANCHOR REQUIREMENTS L |o EF
TABLE” =3 (;51
EXTERIOR e 523
’ i DY § 8

OPTIONAL DIRECT MOUNT DETAIL

TO SUBSTRATE WITH SPACER
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME) ;
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) e

aseo
SL
<

B

. SCHAEFER,_P.E.
P.E. NO. 113497

v

.z \'-'ﬂulil!....ill.elﬂ"‘d

7 WARREN VY. SCrAEFER
‘; EE ] 2

S, 3497 .
,

c
¢
¢

2
s &
(&) aE
(=]
579
>

Py
9{}(.”. 4
At ‘o PSOAN N =
&Y E=d = .? s
ALy —




